Qu. 1 
A magnifying glass magnifies in the ratio 1 : 3

a) If a line is 2 cm without the magnifier, what is it under the magnifier?

b) If a line is 30 cm under the magnifier, what is it without the magnifier?

Qu. 2
A model house is made to the scale 2 : 52.

a) What is the height of the model door if the actual door is 200 cm ?

b) What is the actual height of the house if the model house is 21 cm ?

Qu. 3
A map uses the scale 1 : 5000.

a) How long will a line be on the map to represent 2 km ?

b) How long will a line of 2.4 cm on the map be in real life ?

Ratio : 2

Ratio’s are about sharing items out.



For A


For B

Here A gets 4 sweets and B gets 3 sweets. This is the RATIO  4 : 3 (say “4 to 3”).

If I double the number of sweets this means  4 : 3  becomes  8 : 6






(total 4+3=7)
(total 8+6=14)

so A gets 8 sweets and B gets 6 sweets.

However, 
4 : 3 
and   8 : 6    are the same ratio, and are called EQUIVALENT RATIO’s.

Qu. 1
Which of these ratio’s are equivalent to 2 : 3 ?


9 :6

6 : 9

4 : 12

4 : 8

Qu. 2
30 : 40 can be simplified to 3 : 4. Simplify these ratio’s :


a) 12 : 36
b) 8 : 30
c) 9 : 45

Qu. 3
Give 3 equivalent ratio’s to these :


a) 1 : 2

b) 2 : 3

c) 3 : 5

Using Ratio’s

If I want to use the ratio 2 : 3 to share out a total, I must first know how many parts there are altogether.

Here 2 : 3 means 2 + 3 = 5 parts.


For A
   For B

So A gets 2 (2 out of 5) of the parts and B gets 3 (3 out of 5) parts.

                5                                                         5

If I now have 25 sweets and I want to share them between A and B in the ratio 2 : 3, I say :


A gets    2  of  25 , 

B gets     3  of  25 


              5                                               5


         = 2  x  25                           = 3  x  25

                        5                                        5


        = 2 ( 5 x 25

        = 3 ( 5 x 25


        = 10 sweets

        = 15 sweets

(Check : 10 + 15 = 25 ()

However, what if I don’t know the total to start with, only what one person already has ?

A and B share a bag of sweets in the ratio 2 : 3. If A has 12 sweets, how many does B have, and what was the total in the bag to start with?

A’s fraction is 
2  of B’s total  (  2  :  3)

                        3

and

B’s fraction is
3  of A’s total  (  2  :  3)

                        2

So

B = A x 3



 2



B = 12 x 3 ( 2 = 18 sweets

and 

Total = 12 + 18 = 30 sweets.

(Check :    2 : 3 of 30 gives
2 ( 5 x 30 = 12 (    3 ( 5 x 30 = 18 ()

[Note : notice that  “ of ” means x ,  and   “ out of ”  means (]
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